
Mendelian Genetics: You are studying genetics on an alien plant. There are two separate populations on the planet that have never interacted. One population has wings and the other has no wings. While you are on the planet a winged alien and a non-winged alien mate (1st generation) and have several offspring (2nd generation). None of the offspring have wings.

1. What is the dominant trait, wings or no wings?
_______No wings_____________________
2. What is the recessive trait, wings or no wings?
_______Wings__________________________

As mentioned above, until now the winged and non-winged populations have never interacted. Previously all winged individuals have had only winged offspring and all non-winged individuals have had only non-winged offspring. 

1. What is the genotype of the 1st generation non-winged individual?
________WW________________________________
2. What is the genotype of the 1st generation winged individual?
_________ww_______________________________
3. Is the genotype of the 1st generation non-winged individual homozygous or heterozygous?
__________homozygous_______________
4. Is the genotype of the 1st generation winged individual homozygous or heterozygous?
__________heterozygous__________________
5. What are the genotypes of the 2nd generation offspring?
___________Ww___________________
6. Are the genotypes of the 2nd generation offspring homozygous or heterozygous?
__________heterozygous___________________

Two of the 2nd generation individuals mate and have several offspring (3rd generation). Fill in and solve the punnett square below and answer the following questions.
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1. What are all the possible genotypes of the 3rd generation offspring?
_________WW,    Ww,    ww__________
2. What percentage of the 3rd generation offspring have a heterozygous genotype?
_______________50%______________________
3. What percentage of the 3rd generation offspring have a homozygous genotype?
_______________50%________________________
4. What percentage of the 3rd generation offspring have wings?
_______________25%______________________
5. What percentage of the 3rd generation offspring have no wings?
______________75%___________________________

